QSPICE vs. NL5 Circuit Simulator

QSPICE schematic:

.tran 100 0 0.001
.model swil SW Vi=5, Vh=0, Ron=1e-99, Roff=1e+99

lrf::::;:\'Sl pl (;;-:\52 n2 .,:;.1\53 n3

1 swl 1 swil
C2
1
II(Z:D

2 3

PULSED 101000451 PULSE0O1015000451

NL5 schematic:
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QSPICE Simulation:

Switch Ron = 1e-99, Roff = 1e+99
Fatal error: Timestep too small(1.25281e-13) at t=1.00225
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Switch Ron = 1e-17, Roff = le+17
Wrong results, no warnings

Switch Ron = 1e-16, Roff = 1le+16
Wrong results, no warnings




Switch Ron = 1le-15, Roff = 1e+15
Wrong results, no warnings
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Switch Ron = 1e-12, Roff = le+12
Finaly good???
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NL5 simulation:

Switch Ron =0, Roff = infinity (ideal)




